(BEX| HAH2H 7|1=7, #/107H)

e > = & o 7|8 o™ F/ = 3
go T |EEuz s sw|ze s U s Ue s U B g
20084 22 |1,287|1,257|1,243|1,233(1,113[1,250| 1,200 1,253 1,283 ] 1,277 1.200 | 1,227 1,200
38 [1,349[1,319]1,289|1,279[1,159 |1,309 |1,279[ 1,209 |1,279 | 1.289[ 1.250 | 1,289 1,259

48 |1,283]1,253]1,223|1,213[1,098 |1,243 1,203 [ 1,233 |1,208 | 1.202| 1,172 | 1,202 | 1,172

59 |1,237]1,207|1,181[1,171[1,051 1,203 1,163[ 1,194 1,164 1.200( 1,170 | 1,157 | 1,127

62 |1,202]1,166|1,150|1,140(1,020 |1,157 |1,113[1.140|1,106 | 1.118] 1,082 | 1,089| 1,053

78 [1,255[1,190[1,150|1,140(1,020( 1,169 |1.101 [1,159| 1,101 | 1,140|1,075| 1,140|1,075

89 |1,245/1,149]1,107|1,097| 977 [1,163[1,076 1,153 1,076 1.135/1,039| 1.140[ 1,043

98 |1,468|1,309|1,242(1,232 (1,112 1,376 [ 1,266 | 1,374 1,259 | 1.363| 1,204 | 1.373[ 1.214

108 [1,430]1,3141,244 1,234 1,114 |1,320 |1,248 |1,318 | 1,247 | 1,317[1,199 | 1,327 | 1,209

118 [1,482]1,452|1,392|1,382|1,262 |1,350 |1,320 |1,350 | 1,320 | 1,330|1,286 | 1,354| 1,275

128 |1,536/1,477 1,411,401 1,281 |1,391 |1,345 1,386 | 1,345 | 1,358 |1.289 | 1.367|1.094
20094 19 [1,553]1,503]1,453]1,443[1,323[ 1,416 1,350 | 1,406 1,350 | 1,375|1.315 ] 1.375|1.315
28 |1,374]1,324|1,274]1,264[1,144 |1,200 [1,130[ 1,190 |1,130 | 1.193[ 1,133 1,193|1.133

38 [1,420[1,356|1,306|1,206[1,176 |1,287 |1,198[ 1,278 |1,200 | 1.252[ 1,176 | 1,260 1.184

48 [1,455[1,430|1,402]1,302[1,278 |1,278 | 1,238 [ 1,268 |1,238 | 1.273] 1,223 | 1.283]1.233

59 |1,507]1,577|1,657 | 1,547[1,427 |1.415 1,374 1,405 | 1,374 1.401 | 1.358 | 1.403| 1.368

62 |1,448|1,405|1,369|1,359 1,239 1,340 [ 1,265 1,330 1,265 | 1.330| 1,275 | 1.330| 1.285

78 [1,200/1,109]1,082[1,003| 883 ]1,252 1,158 |1.250 | 1,151 | 1,250|1,168 | 1,250| 1,178
78259 [1,200(1,000( 1,000 970| 850(1,240(1,140{1,250(1,120] 1,250 1,150 | 1,250 1,160

302 |1,200{1,090|1,000| 970| 850 1,240 |1,140(1,250 1,120 | 1.250| 1,150 | 1,250 1,160

82 22[1,200( 1,091,000 970| 850 1,240 |1,140(1,250 1,120 1,250| 1,150 | 1,250 1,160
4211,200{1,000/1,000| 970| 850 |1,240 |1,140{1,250 |1,120 | 1,250| 1,150 | 1,250/ 1,160
7211,200( 1,001,000 970| 501,240 |1,140 1,250| 1,120 | 1,250|1,150 | 1,250 | 1,160
102(1,260(1,120/1,000| 970| 850|1,320 |1,140|1,310|1,140 | 1,310|1,180| 1,310|1,190
142|1,260(1,120/1,000| 970| 850|1,320 |1,140|1,310| 1,140 | 1,310|1,180| 1,310|1,190
18%/1,3201,180|1,050|1,020| 900 1,370 |1,210|1,360 | 1,210 1,370|1,240 | 1.370| 1,250
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(LERI7H, A, #/ka)

+ = A TR aE F|H F
TE = s i CH CH = CH
20084 28 1,488 1,488 1,447 1,633 1,448 1,424 1,448
33 1,434 1,434 1,434 1,498 1,421 1,345 1,426
438 1,367 1,367 1,283 1,367 1,327 1,183 1,327
58 1,346 1,346 1,269 1,346 1,255 1,106 1,306
6% 1,470 1,520 1,620 1,622 1,465 1,303 1,420
74 1,924 1,946 1,956 2,099 1,982 1,774 1,884
8 1,886 1,896 1,922 1,990 1,896 1,713 1,842
9g 1,242 1,305 1,382 1,435 1,368 1,190 1,243
108 1,684 1,752 1,765 1,790 1,770 1,594 1,674
18 1,790 1,833 1,870 1,943 1,857 1,680 1,780
128 1,816 1,894 1,965 1,848 1,891 1,706 1,806
20094 18 2,306 2,306 2,316 2,339 2,286 2,184 2,306
28 1,846 1,896 1,964 2,004 1,891 1,725 1,882
38 2,000 1,990 1,990 2,039 1,990 1,881 2,010
438 2,003 2,007 2,017 2,003 1,943 1,910 2,017
5% 2,103 2,123 2,148 2,100 2,098 2,016 2,119
E 1,857 1,947 2,003 1,853 1,898 1,743 1,890
74 2,119 2,165 2,165 2,116 2,119 2,006 2,116
74 26Y 2,300 2,300 2,300 2,300 2,280 2,200 2,300
30 2,100 2,100 2,100 2,100 2,080 1,900 2,100
8g 3Y 1,700 1,700 1,700 1,700 1,730 1,400 1,900
6 1,500 1,500 1,600 1,500 1,630 1,400 1,700
10 1,700 1,800 1,800 1,700 1,830 1,600 1,700
14 1,700 1,800 1,800 1,700 1,830 1,600 1,700
174 1,800 1,900 1,900 1,800 1,880 1,700 1,800
19 1,900 1,900 1,900 1,900 1,930 1,800 1,800

(x%tl:1.6kgo s, T 1.4~1.6kgm |7, A~:1.4kgr] i
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